DU MPhil PhD in Punjabi

Topic:- DU_J18_MPHIL_PUN

1 P - o DR n = = o 5
; ‘EI-23T TU fdoo, »F R T Ao EgE fe9 for s 5 Aoz 37
[Question ID = 6477]
;, QU-RAR =t BaE [Option ID = 25901]
2. Ust i3 AR T fumig [Option ID = 25902]
ZJ-FR = fimmg
3 = [Option ID = 25899]
,, AA-AZS T fummg |

Option ID = 25900]

Correct Answer :-

SJI-FR T fimrg
- [Option ID = 25899]

2) ‘fgrufes vz ufsw yRS 7 &937 3 ?
[Question ID = 6487]

1, WS &S [option ID = 25939]

pl i e [Option ID = 25940]
3, 9O &'dH [Option ID = 25942]

it e

Correct Answer :-

fiis 23

. "t 27 [Option ID = 25940]

4 [Option ID = 25941]

) Iz fofimr T faos 72 7T T 2

[Question ID = 6491]

HaTS - F:E_E-"-H SR [Option ID = 25957]
5, OTE3 - garet € T [Option ID = 25955]

3, ARU" B0 - ST e T9 [Option ID = 25958]
4, utg HIHT - gfont™ Tt T3 [Option ID = 25956]

Correct Answer :-
. Lﬁﬁ J_IGJIE - E'I‘BYH"' E? ik [Option ID = 25956]

Y gEn T ufae, Bt US = 5, fom ffrare oo, $99 mias Ifanr famr?

[Question ID = 6492]

HIgG®
1. = [Option ID = 25962]

2 [Option ID = 25959]
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3. = [Option ID = 25961]
4, WigHE W9 [Opti

on ID = 25960]

Correct Answer :-

Tfew

g9gde’d
. = [Option ID = 25961]

5) ‘mAT = fom, fous fouz T ooz © o= & fafmr T 2
1. AEIS &S 2. ITRH
3. Ufew goyseT 4. Hnft fagmar
Sudaz v fagz Rt H2 T -

[Question ID = 6494]

1. (3) »3 (4) [Option ID = 25969
2)
% (2) 7= (3) [Option ID = 25968]

3. (4) Y}I’% (1) [Option ID = 25970]

4, (” W3 {:2) [Option ID = 25967]

Correct Answer :-

o) = (2
., (2) m= (3) [Option ID = 25968]

6) RET IHU-mfonts B HYEO3 T9Esudr fosd 75 2
(i) Af9eT IHT ==ReT (i) mueT fRw
(iii) 37. AonIS fRur (iv) 73 fRw
Gusaz v fagzr Rt d2 9 -

[Question ID = 6489]

MORCEREY [Option ID = 25947]
, (1) v (iii)

5 K1) w3 (iv)
. (i) ™= (iii)

[Option ID = 25950]

[Option ID = 25949]

[Option ID = 25948]

Correct Answer :-

. (i) 3 (iii) [Option ID = 25950]

N ferret fimsdinrt @ Uart 3 3 °F feR Qus, fam 3 dR-arow o3
[Question ID = 6488]

;, 7. MEHATS I:Hw [Option ID = 25946]
;. 5. J999s fRw [Option ID = 25944]

;, 7. HfdeT 3T farw [Option ID = 25945]
, 5. IS A it

[Option ID = 25943]

Correct Answer :-

.I:H.!" [ :'..HH.H‘.':‘J
. ST 9995 “"  [Option ID = 25943]
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8) FES (A) - WOl UATET-293d & YeBs &Js feg, feret fHmsaing® niz

UgHt femest =7 U/ taes I

95 (R) - fa@fa, €5f & It varst G fanrg a9, wigfea varst

fenrags € fomH=e! § wisni

Bugaz v fagsT Rt H2 T -

[Question ID = 6486]

, (A) »3 (R) TF IB3 T
, (A) »3 (R) F "I T3

, (A) TB3 T (R) It I

Correct Answer :-

. (A) »2 (R) T AIT T3

[Option ID = 25937]
, (A) °It 3 (R) vifex wat 3 :

Option ID = 25935]

[Option ID = 25936]

[Option ID = 25938]

[Option ID = 25936]

o) fereH, 79 UsigT’ 3 Hez feer 3, € o g &t 3 7

[Question ID = 6495]

1. = o [Option ID = 25974]

5, THIZ T, THIZ HAT, THI3 TGE, THIZ HIHT [gp0i0n 10 = 25073

Correct Answer :-

1) I fost met = fios &9 -

Aot-1
I ZE-HIaAT=
II U= E-HAIga=e
I €33 nrufsaz=™
IV HaarRe=
GuSaE T RIT N T -
[Question ID = 6490]

1. I-C, II-A, TII-B, IV-D [Option ID = 25951]
2. I-C, I1-D, III-A, IV-B [Option ID = 25953]
3. I-C, 11-D, I1I-B, IV-A [Option ID = 25954]
4, 1-D, TI-C, TII-A, IV-B [Option ID = 25952]

Correct Answer :-

« I-C, II-D, III-A, IV-B [Option ID = 25953]

[Option ID = 25971]

[Option ID = 25972]

[Option ID = 25972]

c 37z fRwr foim

11) FEE (A) - TI-TTe T FEa, »igrAg fH3e T
95 (R) To-arfe v &few, IHE HigTRs u=g Jer 31
Gudaz = faozr Fat A2 T -

[Question ID = 6493]

-

T
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1. (A) a3 T (R) AT T [Option ID = 25966]
2, (A) i3 (R) TF B3 T [Option ID = 25964]
% (A) »3 (R) TF AUt T6 [Option ID = 25963]
, (A) AT T (R) niifex At 3

[Option ID = 25965]

Correct Answer :-

. (A) Adt 3 (R) nifae At 3 [Option ID = 25965]

12) Jarst &t foar Gust feu, o=t RuwarEt A/ = S8T9e, a9t &3t 7

[Question ID = 6517]

it [Option ID = 26062]

HoeET
U ot

3. = [Option ID = 26061]

H=T

4, [Option ID = 26059]

[Option ID = 26060]

Correct Answer :-

Uyt

v A [Option ID = 26061]

1) I5 &5t met = fies &9 -

Aot-1 Ret-1I

(A) fHE =" (1) 35 udt =F
(B) ¥ =" (2) T7 IASH
(C) Un =" (3) 3 "o

(D) 7&T =T (4) ZIFRW nEzT

Gudaz T RIT N T -
[Question ID = 6523]

1. A-4, B-3, C-2, D-1 [Option ID = 26084]
2. A-4, B-2, C-1, D-3 [Option ID = 26083]
3. A-1, B-2, C-3, D-4 [Option ID = 26086]
4. A-3, B-4, C-1, D-2 [Option ID = 26085]

Correct Answer :-
« A-4, B-2, C-1, D-3 [Option ID = 26083]

19) ‘gely’ T REQ T 2
[Question ID = 6520]

, fonrags feaent &5
2. fenraaa W oS [Option 1D = 26071]

3, € HEM 35 (0000 1p = 26073]
4, THTHE 8 (6000 1p = 26074]

[Option ID = 26072]

Correct Answer :-

. fenrags feaent 58

[Option ID = 26072]
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1) I3 &5t met = e &9 -

Ae1-1 RS T-11
(a) H®=TT 1. IHS
(b) HST 2. 753
(c) ©m=T 3. IHE
(d) ynmmat 4. Vgt

GuSaZz T RITIH T -
[Question ID = 6518]

1. A-4, B-1, C-2, D-3 [Option ID = 26064]
2. A-4, B-3, C-1, D-2 [Option ID = 26066]
3. A-1, B-2, C-3, D-4 [Option ID = 26065]
4. A-3, B-4, C-1, D-2 [Option ID = 26063]

Correct Answer :-

« A-4, B-1, C-2, D-3 [Option ID = 26064]

%) I5 fiodt met = fims &9 -
HeT-1
A. Us/Re/Aane
B. ¥J1 =T
C. FoHAYl/He-fffems
D. fegr 2 T93HS
Guaz T RIT N T -

[Question ID = 6525]

1. A-4, B-3, C-2, D-1 [Option ID = 26093]
2. A-1, B-2, C-4, D-3 [Option ID = 26091]
3. A-3, B-2, C-1, D-4 [Option ID = 26094]
4, A-3, B-4, C-1, D-2 [Option ID = 26092]

Correct Answer :-

« A-3, B-4, C-1, D-2 [Option ID = 26092]

1) fm viadw feews %, gromdt fdt @ wiig g1 3 i, €, € €t 393 g Shor I 2

[Question ID = 6519]

1. I §_ <G [Option ID = 26067]
. T
ATRS

4, = [Option ID = 26068]

[Option ID = 26069]

[Option ID = 26070]

Correct Answer :-

. = [Option ID = 26067]

18) F9, R seB T HY Uz T ?
[Question ID = 6480]

, 939 ¥ ¥g' fAd ARE o5

AeT-1I

(1) 37. Honis fRwr

(2) 3. gfeeg fAw =t
(3) 7. ARUS 3T

(4) 5. 2f¥e9 39 (@A)

[Option ID = 25912]
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2. '™ [option ID = 25914]
3. OY Hel [Option ID = 25911]

g MaT T a3 [Option ID = 25913]

Correct Answer :-

, i T s [Option ID = 25913]

19) ‘ggle’ ot 3 2
[Question ID = 6521]

H9 T AGH 3 AT HJ1G I™fE SI3T WigHSS
, HZ T AS T nieg nied Ji37 nighe™
3. SAt U9 LI"'@_E}H'IT:F HOHOTS [Option ID = 26075]
, T TR HIGT HR T MEHS

1 [Option ID = 26076]

[Option ID = 26077]

[Option ID = 26078]

Correct Answer :-
HZ T A'® T WTT »iTg J13T iaHSS [Option ID = 26077]

2 35 St st T fime w9 -

Hot-1 Ret-1I

(A) TfF™ 58 AT 97 (1) 79 fRw "9

(B) 3@t 3 g=t (2) =feeg Rfzwra=t

(C) 9 2 5 (3) "fdeg fAw T=x7m9r g<T
(D) UAg T Sgrar (4) I35 fAw AHET

Sudaz T RITH T -

[Question ID = 6522]

1. A-4, B-1, C-3, D-2 [Option ID = 26079]
2. A-1, B-3, C-2, D-4 [Option ID = 26080]
3. A-2, B-4, C-1, D-3 [Option ID = 26081]
4, A-3, B-2, C-4, D-1 [Option ID = 26082]

Correct Answer :-
= A-2, B-4, C-1, D-3 [Option ID = 26081]

2D st 3T T gogaEHeR (WS wat) dEE, fam niugs fes nrfenr 37
[Question ID = 6516]

il -
1. HJH: ’l [Option ID = 26055]
, SaE

3. €4 [Option ID = 26057]
4 D [Option ID = 26056]

[Option ID = 26058]

Correct Answer :-

. e [Option ID = 26058]

2) 35 ffimrt fed foraar o Bt oF 3 7
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[Question ID = 6524]

e fur — ¥t dTg 3 feaTyg

, & Ifgems fiwr  — I% goinf T
g. fams fRw — JETSIT RS

3. [Option ID = 26087]

, U J9u9s fRw  —  FouE Afgwme

[Option ID = 26090]

[Option ID = 26089]

[Option ID = 26088]

Correct Answer :-

7. wiZT fRwr — YT deg 3 feagwg
. [Option ID = 26090]

B) for Jaet mrfos-gu QuT, 93 ue SR-aaw Ifenr 3 7

[Question ID = 6482]

1. T3 [option b = 25921]

RO
3 [Option ID = 25919]

Ffe3T

4, [Option ID = 25922]

2. [Option ID = 25920]

Correct Answer :-

. O3 [Option ID = 25921]

24) YHIHIZ TT¢ TIP3 TIIT-USHAT T At 5 T ?
(i) HO@A=3TT (ii) fommat
(iii) ITa=E (iv) fouz uzs
Gudaz v fagz Rt H2 T -

[Question ID = 6484]

y, G %2 (V) [op60n 10 = 250307
5 (i) W= (iii)
5, (1) i3 (id) [Option ID = 25927

. (i) 713 (iv)

[Option ID = 25928]

[Option ID = 25929]
Correct Answer :-
(i) 73 (iv)

[Option ID = 25929]

®) g RufeeM T 59 S5 & I3 T AT fam 5B 3 2
[Question ID = 6505]
, JF 37 TI=T
3, I PITHG S [Option ID = 26013]
4, ECIE C_IE:‘H [Option ID = 26014]

[Option ID = 26012]

[Option ID = 26011]

Correct Answer :-

. 33 TET [Option ID = 26014]
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26) FES (A) - HEMHZ, ¥ 2 59 ¥ UIT, HOE3 T 799 3 & 3= I
95 (R) - 7% 3o fouast &, v famrs Yz odt 3o, 7 33 69
WMIH-MTZST DT WEH-UETE YUS a1 oow, 8 3 uer
2 3 @ It uduz T T, OF wies O &t g
Busez v fausT Rt dHe T -

[Question ID = 6499]

;. (A) 2 (R) TF B3 TS [0ption I = 25987]
, (A) 783 3 (R) At [Option ID = 25988]

3, (A) RIt 3 (R) 3183 3 [Option ID = 25990]
4 (A) 3 (R) TF AIT IS

[Option ID = 25989]

Correct Answer :-

. (A) m3 (R) &% AIT T& [Option ID = 25989]

27) FE5 (A) - Ieat T3, 598 seaary ©F HaAT 83 vz I7 I5 |
95 (R) - 5T usT S =, 13mi, 3T »iZ T2%06 58 HS Hie 36|
Busas v faosT At He T ;-

[Question ID = 6503]

1. (A“:I B3 a (R) Hﬁ a [Option ID = 26005]

, (A) H?{T 3 (RE HTEE' 3 [Option ID = 26004]

3 (A) s (R] T Hﬁ 96 [Option ID = 26003]

4. (A) M2 (R) TF B3 TS [0ption Id = 26006]

Correct Answer :-
5 (A) 53 3 (R) At 3 [Option ID = 26005]

28) ‘fggrs” T HET faR & o ?
[Question ID = 6500]

1. OB [option ID = 25992]
L Y

2. 523

A=l

[Option ID = 25991]
3, [Option ID = 25994]
4, Ef'EE oTed [Option ID = 25993]

Correct Answer :-
. OB [Option ID = 25992]

?) fggzrHz B3 T 2
[Question ID = 6498]

 FEg3 - GRS

1 [Option ID = 25984]

, HBII = HMJS3 [Option ID = 25985]
OHS = F

[Option ID = 25983]

L ]
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4, D93 - T3 [Option ID = 25986]

Correct Answer :-

AEg3 - SHIOS

[Option ID = 25984]

) Iz fidst met = o 39 -

Hot-1 For-11

a HoHIS (i) S9rs
LREIEY (i) AT

c gTET (i) HITHST
d IHH" (iv) ITo<A

SUSaZ T RIT N T -

[Question ID = 6502]

1. A-(1V), B~(T), C-(I1), D-(IIT) [Option ID = 26001]
2. A-(IIT), B-(II), C-(I), D-(IV) [Option ID = 25999]
3. A-(I), B-(1V), C-(III), D~(II) [Option ID = 26002]
4, A-(11), B-(I1I), C-(IV), D-(I) [Option ID = 26000]

Correct Answer :-
« A-(1V), B-(I), C-(II), D-(III) [Option ID = 26001]
1) 3 HoT BT =T, SS9 WS =1 73, "ige fawe 3
b =& gweT 3, feu g farer 3, iz = 2R
c T, THT 3T FH UAE, THIG-T-URE
d €=t /=T, UH=HT = 337, niugas3
Forgs fRw 32 e © ROt 3¢ 35 7

[Question ID = 6504]
, © R

2. @ M3 C [option 1D = 26008]
anm3 b
bn3d

[Option ID = 26007]

3 [Option ID = 26010]

4 [Option ID = 26009]

Correct Answer :-

RLER

[Option ID = 26007]

) Iz fost met = i 79 -

-l He1-11

A 5 B9 1. ¥e=T SHfEwe ot

B HJ JAS 2. ™ETS IfoHS

C §8% "9 3. 7Y =foss 7o Sfanret
D F53S 979 4, 73 feafes

[Question ID = 6497]

1. A-1, B-2, C-4, D-3 [Option ID = 25980]
2. A-1, B-3, C-4, D-2 [Option ID = 25979]
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A-2, B-1, C-3, D-4 [Option ID = 25981]
A-3

3. A-2, B-
4. A-3, B-2, C-4, D-1 [Option ID = 25982]

Correct Answer :-
« A-1, B-3, C-4, D-2 [Option ID = 25979]

) fert feF Hy-amls 3 Sa0 Rfsmmes §, fxod wres feg fosfonr fimr 39
[Question ID = 6478]

. fegt fes aet aat
,, T A

B_faam?m
4.1:'-5%

[Option ID = 25906]
[Option ID = 25905]

[Option ID = 25903]
ESd [Option ID = 25904]

Correct Answer :-

. 19 faw a9 [Option ID = 25904]

) ‘aEE-nm-Hfogs T o, T 39 =6 AT R = wiEs & ot AR
[Question ID = 6496]

1. Ay Tw =T [Option ID = 25978]

», JAG FRTI [Option ID = 25976]
e .
3, 0= [Option ID = 25977]

4_?}833'771'8’1?

[Option ID = 25975]

Correct Answer :-

o @t ?ﬁ?{ qﬂ?‘:‘ﬁ [Option ID = 25978]

35 " ~ - o -
) g Haz 5 HEuT seat @ Bt 5T 95 2

[Question ID = 6501]

;. TTEMT, TN R, s, A [Option ID = 25997]
U B, HS AATS, g & 897

2. - [Option ID = 25998]

, 9819 un= 73, nig fomadt, RSt o

, TIEQ, BTH &K, TIGH

[Option ID = 25995]

[Option ID = 25996]

Correct Answer :-

" W, JoH flﬁll', HI'?§|, R [Option ID = 25997]

36) FES (A) - Hos fRw, fea yarster<t =T AT
T35 (R) - fa€fa, €9 avifex fasst o =a1 AT
Susaz T fagzT Rat A2 9 -

[Question ID = 6514]

 (A) 83 T (R) niife wat 3

l(A)?(R)ﬁ%‘HﬂU‘:‘u‘

[Option ID = 26049]

[Option ID = 26047]

collegedunia:s

India’s largest Student Review Platform



3. (A) ﬂ?ﬁ' a. (_-R) EIICE] a [Option ID = 26048]
(A) 2 (R) T, nifsx AT T5

4 [Option ID = 26050]

Correct Answer :-
. (A) AT R) 73 3 [Option ID = 26048]

37) a. WY AOE, SUTT AOE, SOHT
b. Ewiarg, 2T, fast
c. HYHET AT, nias SR313, 7890
d. 7y =, »AT T 79, fFu aAfe
99 35K ©F Al E€ff JeETET € At 15 TG ?

[Question ID = 6509]

1, 4 "2 b [Option ID = 26027]

. b "3 d [Option ID = 26029]
b3 ¢

a ™M ¢

4, [Option ID = 26030]

[Option ID = 26028]

Correct Answer :-

b2 d

[Option ID = 26029]

38) ywufax Afos © e few T 3 2
[Question ID = 6510]

[
1. BATTTT [Option ID = 26032]
2. UTH™TE  [option ID = 26031]

3. Ygugr [Option ID = 26033]

4, 5 [Option ID = 26034]

Correct Answer :-

v DTN [Option ID = 26034]

¥ I5 et met v s =9 -

Hot-1 Aet-11

A. Message of Sikhism (1) Macauliffe

B. Holy Writings of the Sikhs (11) Surinder Singh Kohli
C. Imagery in the Adi Granth (111) Harbans Singh

D. Critical Study of Adi Granth (1v) J. S. Grewal

SuSez T RIT X T -

[Question ID = 6507]

1. A-(IV), B-(1I), C-(I1I), D-(I) [Option ID = 26021]
2. A-(IIT), B=(I), C-(IV), D~(II) [Option ID = 26020]
3. A-(I), B-(II), C~(III), D-(IV) [Option ID = 26019]
4. A-(11), B-(I), C-(IV), D-(III) [Option ID = 26022]

Correct Answer :-
« A-(III), B-(I), C-(IV), D-(II) [Option ID = 26020]
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1) Iz &=t met = fies a9 -
HFot-1 Aer-11
(a) ¥ 3 & (i) Tt I T3
(b) F=9 (ii) fa= aHT o=t
(c) AERST (iii) Hos frwr
(d) Segarg (iv) o< 95%3
SuSaZ T RIT H T -

[Question ID = 6513]

1. A-(IV), B-(I11), C~(1), D-(II) [Option ID = 26044]
2. A-(T), B-(IT), C~(IIT), D-(IV) [Option ID = 26043]
3. A-(1I), B~(I), C-(I1I), D-(IV) [Option ID = 26046]
4, A-(11), B-(I11), C-(1), D-(IV) [Option ID = 26045]

Correct Answer :-
« A-(II), B-(III), C~(I), D-(IV) [Option ID = 26045]

W) foger Az At &4t 3 2
[Question ID = 6512]

laa?ﬁ?m - F=agat

= [Option ID = 26040]

2. ”‘Fﬁ'{? "fEm - M&E3T [Option ID = 26039]
, URH AW A8le - HET €Ik ¥

, Ifoows e - 9w 3 fot

[Option ID = 26041]
[Option ID = 26042]

Correct Answer :-

a "ﬂ?’{wm - HE ¥R T [Option ID = 26041]
92) geg3-fimms = fésoe, TR Stafer g w03 3 7

[Question ID = 6511]

1 [Option ID = 26036]

2. [Option ID = 26038]
3. {12 319 [Option ID = 26037]
4, geT F9 fRw [Option ID = 26035]

Correct Answer :-

. T 9 fAw [Option ID = 26035]

8) N, 35 yzee o T9F TR D 2

[Question ID = 6515]

|, HBTST
o 3

2. [Option ID = 26052]

[Option ID = 26053]

3. BEC [Option ID = 26054]

untat

4 = [Option ID = 26051]
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Correct Answer :-

HBIST

o 2 [Option ID = 26053]

W Iz et feg fags™ de AIT T 2
[Question ID = 6479]

1. TIHATS fHH'L!Ia_"FF, WHIAIS Je5, s friur [Option ID = 25908]
, 3. w33 friw, seee fiw odles, fie g9 seost
, Tafens frw, I3 fRw fegx, A. 7. Himr

[Option ID = 25910]
[Option ID = 25907]

[Option ID = 25909]

Correct Answer :-

. Ae® U, HiEET a1, IBREET AW (000 1p = 25009)

4) fifg-ArgeT 3, § TOW 2 fgt 4B Hawut St uad fenrfim OF Sigt 7
[Question ID = 6506]

1, 5%, yfsere, Hee [Option ID = 26015]

% IH, A3, 3H [Option ID = 26018]

3. fexetreaere, 2=t A7, G [Option ID = 26017]

4. f3mer, 3%, foge= [Option ID = 26016]

Correct Answer :-

i I-B.\”E; , 9%, |EEEE E [Option ID = 26016]

) FEs (A) - TIREE FUT 3 wErg, wiZg-H vz wigge Idt, A s
nige J= < fafonr 31
95 (R) - feR niagst goys w939 3, Sux uo3s '3 €39, fer &t
ygs fenifemir 3t nifimr 7 Forer, To€fa Feret nieasster J1
Busaz = faoz Rt d2 9 ;-

[Question ID = 6508]

¥: (A) m3 (R) e¢ FIt I5 [Option ID = 26025]
, (A) niifrg 7t 3 012 (R) YT5 7053 3
3. (A‘} W .HU:I.E(R} H‘ITFHE %3 a [Option ID = 26024]
4. (A) n3 (R) TF 953 3 [Option ID = 26023]

[Option ID = 26026]

Correct Answer :-

. (A\:' CES (R) T Hﬁ J5 [Option ID = 26025]

) soHAmdt 57 HE v Arfos-gueg 3 7
[Question ID = 6483]

1. 2R [Option ID = 25924]
oy
2, @ Afe [Option ID = 25923]
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3, U9 o1 [Option ID = 25925]
4, SIREGY, [Option ID = 25926]

Correct Answer :-

ygar

. [Option ID = 25925]

AoT-1 o1

A. 7. vir3HAS TR (1) H® 2 HOTE

B. 3. I395a fRw g=9 (2) 9% T T TEGAT
C. 3. Ifgsas frwr (3) Arfgsat

D. ¥939 fAw a&3T (4) Us 2 YA

[Question ID = 6526]

1. A-1, B-2, C-4, D-3 [Option ID = 26097]
2. A-2, B-1, C-4, D-3 [Option ID = 26095]
3. A-3, B-4, C-2, D-1 [Option ID = 26096]
4. A-3, B-4, C-1, D-2 [Option ID = 26098]

Correct Answer :-
« A-3, B-4, C-1, D-2 [Option ID = 26098]

¥ gt mrfoz T TEEHE-UETE, v € faw d@2 '3 fimr
[Question ID = 6481]

1. yﬁﬁﬁ” lﬂgm fre dH'd, H.F. HIRT [Option ID = 25918]
, I fiw, FToHHTS AW IR, ITH AU gyt
, U, A3 IH 8T, &5 fiw fes

[Option ID = 25916]
[Option ID = 25917]
[Option ID = 25915]

Correct Answer :-

. IS AW, IOHFIS AW AT, TTH AU M@ (o 4ion 1 = 25016]

0I5 fost met = fims a9 -

Hot-1 For-11

I AETo™T a Efemim Ju

II R-A=at b HITHSTT

I 39 5§39 c 9=

v fosg d =fomr=t &t /3T

Sugaz T RIT N T -
[Question ID = 6485]

1. I-B, II-A, ITI-C, IV-D [Option ID = 25931]
2. I-B, II-A, III-D, IV-C [Option ID = 25934]
3. I-A, II-B, I1I-C, IV-D [Option ID = 25933]
4. I-A, 11-C, I1I-B, IV-D [Option ID = 25932]

Correct Answer :-
« I-B, II-A, TII-D, IV-C [Option ID = 25534]
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